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1. Fifteen people were asked to indicate their preference for domestic versus imported

cars. The following data showed their preferences.
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With oo = 0.06, test for a significant difference in the preferences for cars. A "+"
indicates a preference for imported cars. (15 57)
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foos o = 1.8331, Tors o) = 22622, Loy o =1.8595, 1,5 o =2.3060

Xo 05,9y = 16.9190, Xq 0259y = 19-0228, Xo05,8) = 15.5073, Xo 0055y = 17.5346

=3.3251, X245 () = 2.7004, Xgo5 5 =2.7326, Xo475 5y = 2-1797
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5. In the simple linear regression model: Y =a + BX, +¢,, i=1,2,....,n, with E(g,)=0,

Var(e) = o>, Cov(e,, € ;)=0,Vi=# j. Denote the OLS estimator of a, £ and the

residual variance by a, b, and, S *_ Suppose each X, isreplaced by cX,, where c£0isa

constant. Howarea, b, S 2 , and the ttest of H, : § =0 affected? (20 53+)
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